Matrices and Determinants - Class XlI

Related Questions with Solutions

Questions
Quetion: 01
et e tcost e tsint
IfA=| e —etcost—etlsint —e'sint+etcost | ,then Ais
et 2e tsint —2etcost
A.invertible only if { = 71
B.invertible only if ¢ = /2
C.not invertible forany t € R
D.invertible forallt €¢ R
Given,
et e~ tcost e tsint
A= | e —etcost—etsint —elsint+etcost
et 2e tsint —2e~tcost
1 cost sint
Now,|A] =e*| 1 —cost—sint —sint+ cost
1 2sint —2cost
1 cost sint
—e 'l 0 —sint—2cost cost—2sint [Applying R2 ¢ R2 -
0 2sint —cost —2cost—sint

R1 and R3 ¢ R3 - R1]
= e "[(—sint — 2cost)(—2cost —sint) — (cost — 2sint)(2sint — cost)]
=e! [50082t+5sin2ﬂ =540 VtER

AisinvertibleVt € R.

Correct Options

Answer:01
Correct Options: D



